
 

  

 

 

B.Com. DEGREE EXAMINATION –  

JUNE, 2010. 

(AY 2003–04 and CY–2004 batches only) 

Third Year 

Commerce 

MANAGEMENT ACCOUNTING 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3 × 5 = 15 marks) 

 Answer any THREE questions. 

1. What is  management accounting? State its scope. 

 ÷©»õsø© PnUQ¯À GßÓõÀ GßÚ? Auß £µ¨¦ 

¯õx? 

2. What is a budget? Explain the types of budgets. 

 ÁµÄ ö\»Ä vmh £mi¯À GßÓõÀ GßÚ? Auß 

ÁøPPÒ ¯õøÁ? 
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3. What is marginal costing? State its advantages. 

 Âk ªøP AhUP PnUQ¯À GßÓõÀ GßÚ? Auß 

£¯ßPÒ ¯õøÁ? 

4. What is Ratio? What are the various types of 

ratios? 

 ÂQu öuõhº¦ GßÓõÀ GßÚ? Auß £À÷ÁÖ 

ÁøPPÒ ¯õøÁ? 

5. What is variance analysis? State its importance. 

 •µs£õk  B´Ä GßÓõÀ GßÚ? Auß 

•UQ¯zxÁ® ¯õx? 

SECTION B — (4 × 15 = 60 marks) 

 Answer any FOUR questions. 

6. From the following, calculate cash from  

operations : 

 31.12.98 31.12.99 

Debtors  50,000 47,000 

Bills receivable  10,000 12,500 

Creditors  20,000 25,000 

Expenses out standing  1,000 1,200 

Expenses  prepaid  800 700 
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Accrued income  600 750 

Income received in advance 300 250 

Net profit made  – 1,30,000 

Bills payable  8,000 6,000 

 ¤ßÁ¸ÁÚÁØÔ¼¸¢x ‘ö\¯À£õkPÎÀ  öµõUP®’ 

PõsP. 

 31.12.98 31.12.99 

PhÚõÎPÒ 50,000 47,000 

ö£ÖuØS›¯ ©õØÖa^mk  10,000 12,500 

PhÚõÍºPÒ 20,000 25,000 

öPõk£hõ ö\»ÄPÒ 1,000 1,200 

•ßTmi ö\´u ö\»ÄPÒ  800 700 

÷\º¢u Á¸©õÚ® 600 750 

•ßTmi ö£ØÓ Á¸Áõ´ 300 250 

{Pµ »õ£® – 1,30,000 

ö\¾zxuØS›¯  ©õØÖa^mk  8,000 6,000 

7. Taj Ltd. has prepared the following budget 

estimates for the year 98-99  

 Sales in units – Rs. 15,000 

 Fixed expenses – Rs. 34,000 
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 Sales value – Rs. 1,50,000 

 Variable costs – Rs. 6 per unit 

 You are required to  

 (a) Find the  

  (i) P/V ratio 

  (ii) Break even point and  

  (iii) margin of safety 

 (b) Calculate the revised P/V ratio, BEP and 

margin of safety if there is 10% increase in 

variable costs. 

 uõä ¼m 1998–99® BsiØPõÚ RÌPõq® vmh 
£mi¯ø» u¯õ›zux 

 ÂØ£øÚ (A»SPÎÀ) ¹. 15,000 

 {ø»aö\»ÄPÒ ¹. 34,000 

 ÂØ£øÚ ©v¨¦ ¹. 1,50,000 

 ©õÖ£k® ö\»Ä A»S JßÔØS  ¹. 6 Ãu® 

 (A) CøÁPøÍ öPõsk RÌPõs£ÚÁØøÓ Põs. 

  (i) C»õ£/ÂØ£øÚ Ãu® 

  (ii) »õ£ |mhªÀ»õ ¦ÒÎ 

  (iii) £õxPõ¨£õÚ Kµ Ãu®. 

 (B) ©õÖ£k® ö\»ÄPÒ 10% E¯º¢uuõÀ  C»õ£/ 
ÂØ£øÚ Ãu®,  »õ£ |mhªÀ»õ ¦ÒÎ, 
£õxPõ¨£õÚ Kµ Ãu® PõsP. 
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8. A firm has a contract to supply 10,000 units of its 

product during 2003. The following were budgeted 

expenses and revenues. 

 Material – Rs. 15 per unit 

 Wages – Rs. 10 per unit 

 General expenses (fixed) Rs. 60,000 

 Profit is 20% on sale price 

 Work expenses (fixed) – Rs. 40,000 

 Work expenses (variable) Rs. 4 per unit 

 Prepare the budget for 2003 showing the costs and 
profit. 

 {Ö©® JßÖ 2003À uß EØ£zv°À 10000 
A»SPøÍ \¨øÍ  ö\´¯ J¨£¢u® ö£ØÓx. 
RÌÁ¸£øÁ vmh ÁµÄ ö\»ÄPÍõS®. 

 ‰»¨ö£õ¸Ò ¹. 15 A»S JßÖUS 

 T¼ ¹. 10 A»S JßÖUS 

 {ø»  ö£õx ö\»ÄPÒ ¹. 60,000 

 »õ£® ÂØ£øÚ «x 20% 

 {ø» u¯õ›¨¦ ö\»ÄPÒ ¹. 40,000 

 ©õÖ£k® u¯õ›¨¦ ö\»ÄPÒ ¹. 4 A»S JßÖUS 

 AhUP Âø» ©ØÖ® C»õ£zøu Põmk® 2003® Á¸h 
ÁµÄ ö\»Ä vmhzøu u¯õ›UP. 
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9. From the following profit and loss  account of a 

company prepare  

 (a) GP ratio 

 (b) NP ratio 

 (c) Operating ratio 

 (d) Operating profit ratio 

 Rs.  Rs. 

To Opening stock  1,00,000 By sales  5,60,000 

To Purchases  3,50,000 By closing  stock  1,00,000 

To Wages  9,000   

To Gross profit c/d  2,01,000   

 6,60,000  6,60,000 

To Administrative exp. 20,000 By Gross profit b/d 2,01,000 

To Selling expenses  89,000 By Non trading  income  18,000 

To Non-Trading Exp 30,000   

To Net profit  80,000   

 2,19,000  2,19,000 

 RÌUPõq® »õ£ |mh PnUQ¼¸¢x  

 (A) ö©õzu  »õ£  ÂQu® 

 (B) {Pµ »õ£ ÂQu® 

 (C) ö\¯À£õmk ÂQu® 

 (D) ö\¯À£õmk »õ£ ÂQu® BQ¯ÁØøÓU Põs. 
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 ¹.  ¹. 

Bµ®£ \µUQ¸¨¦  1,00,000 ÂØ£øÚ 5,60,000 

öPõÒ•uÀ  3,50,000 CÖv \µUQ¸¨¦  1,00,000 

T¼  9,000   

ö©õzu »õ£® R/öPõ 2,01,000   

 6,60,000  6,60,000 

{ºÁõP ö\»ÄPÒ  20,000 ö©õzu »õ£® R/C 2,01,000 

ÂØ£øÚ ö\»ÄPÒ 89,000 Â¯õ£õµ ÷|õUP©ØÓ »õ£® 18,000 

Â¯õ£õµ® AÀ»õu ö\»ÄPÒ 30,000   

{Pµ »õ£® 80,000   

 2,19,000  2,19,000 

10. From the following details calculate pay back 

period. Cost of project Rs. 32,000, estimated scrap 

value Rs. 3,200 and estimated savings :  

 I Year Rs. 4,000  

 II Year Rs. 6,000 

 III Year Rs. 10,000 

 IV Year Rs. 10,000 

 V Year Rs. 8,000 

 RÌUPõq® ÂÁµ[PÎ¼¸¢x «Í¨ £¯ß Põ»zøu 

PnUQkP. 

 vmh ©v¨¦ ¹. 32,000, 
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 ©v¨¤h¨£mh PÈÂß ©v¨¦ ¹. 3,200 ©ØÖ® 

 ©v¨¤h¨£mh  ÷\ª¨¦ : 

 •uÀ Bsk 4,000  

 Cµshõ® Bsk 6,000 

 ‰ßÓõ® Bsk 10,000 

  |õßPõ® Bsk 10,000 

 I¢uõ® Bsk  8,000. 

11. The Balance sheet of Tip Top Ltd, for the year 

ended 31st December 2002 and 2003 are as  

follows : 

Liabilities  2002  2003 Assets  2002  2003 

 Rs.  Rs.  Rs.  Rs. 

Equity share      Freehold      

  capital 80,000  1,20,000   premises 55,400  1,13,200 

Share premium 8,000  12,000 Plant and 

machinery  

35,600  51,300 

General      Furniture and 2,400  1,500 

  Reserve 6,000  9,000   fixtures     

Profit and loss a/c 19,500  20,800 Stock  22,100  26,000 

5% debentures  –  26,000 Debtors  36,500  39,100 

Income tax  9,800  10,900 Bank balance  4,800  4,000 

Creditors  33,500  36,400     

 1,56,800  2,35,100  1,56,800  2,35,100 
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 Depreciation written off during the year 2003 was 

as under : 

 Plant and machinery – Rs. 12,800 

 Furniture and Fixtures – Rs. 400 

 Prepare a statement of sources and uses of funds. 

 i¨hõ¨ ¼ªöhmiß 2002 ©ØÖ® 2003® 

BskPÐUPõÚ  C¸¨¦ {ø» SÔ¨¦ RÌÁ¸©õÖ : 

ö£õÖ¨¦PÒ 2002  2003 ö\õzxUPÒ  2002  2003 

 ¹.  ¹.  ¹.  ¹. 

÷|ºø© £[S     ¤øn¯ªÀ»õ     

•uÀ  80,000  1,20,000   Pmih® 55,400  1,13,200 

£[S •øÚ©® 8,000  12,000 uÍÁõh®, C¯¢vµ® 35,600  51,300 

ö£õx Põ¨¦  6,000  9,000 AøÓP»ß  2,400  1,500 

»õ£ |mh P/S 19,500  20,800 \µUQ¸¨¦  22,100  26,000 

5% Phß £zvµ® –  26,000 PhÚõÎPÒ  36,500  39,100 

Á¸©õÚ Á› 9,800  10,900 Á[Q C¸¨¦  4,800  4,000 

PhÚõÍºPÒ  33,500  36,400     

 1,56,800  2,35,100  1,56,800  2,35,100 

 2003 ® Bsk C¯¢vµ® uÍÁõh®  «x ¹. 12,800® 

AøÓP»ß «x ¹. 400® ÷u´©õÚ©õP 

÷£õUöPÊu¨£mhx. CÆÂÁµ[PÎ¼¸¢x  {v 

Buõµ® ©ØÖ® {v £¯ß£õmk £mi¯À u¯õ›UP. 
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12. Discuss  the role of management accounting as a 

tool in decision making and exercising control. 

 J¸ {Ö©zvÀ, •iÄPøÍ GkzuÀ ©ØÖ® 

Pmk¨£kzxu¼À  ÷©»õsø© PnUQ¯¼ß £[øP 

ÂÁ›UPÄ®. 
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